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The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions : 1x10=10
O TR ey i

(a) What is endogenous growth?
RS R 9

(b) Mention' one assumption of Solow
model.

5 Y 9B iy Srme 7
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(2) (3)

(c) “Consumption function expresses the (i) Mention one classical assumption.
relationship between consumption and 951 TS fSyren Sra 394 |
investment.” Is it true? :

“coml TR (Ol ST REAGIR TSy 7 () Name one new-Keynesian economist.
SR IS 17 I IO ? TG - TR 1 foray
{d) . Who zu'o‘iuced the permanent income 2. Answer the following questions : 2x5=10
hypothesis
: o e erTe T fm
A O ST PR Soi TR
(a) Mention two limitations of Harrod-
fe) What is inventory investment? - Domar model.
erer Rt 2 ‘, (T-TAR =R Y1 Mot Sea 741 |
. . | (b) Mention two assumptions of rational
() What is monetary policy? expectation hypothesis.
RS &2 RIS e SRR (O SfeRe Seae
] ‘
(9) What is time consistency of monetary o
policy? {¢0 What is meant by residential
e A T AT R 2 investment?
P Rivcas e R gem 2
(h) “Central bank of a country prepares .
its fiscal policy.” Is it true or false? (d) Mention two objectives of monetary
‘ policy. '
“oM 9FR TR QT TR Re SR
TR G A O 9 " T AR Sy S
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(4)
(e) Mention two features of new classical

thoughts.

I FRITS SRYR[R 551 e Seay w1 |

Answe-r any four questions from the
following : 5x4=20

weTs FRTTIRA o1 R e w11 e e o <

(a) Explain the limitations of Solow model.
v = MRwertz IR v |

(b) Explain the technical attributes of
Keynesian consumption function.

@W@ﬁwwﬁﬁ@mmw|

(c) Briefly explain the random walk of
consumption expenditure.

CoTe! T IR (A BT Jrey 35

(d) Explain the main determi
rmin
demand for money. ants of

o SRR 0 Pl s ey |

( Continued )

(S)

(e) Distinguish between active and passive
monetary policies.

A WF SATE W NI TER Ao Pefa
90 ‘

(0 How did Keynes differ from the
classicists? Explain.

e qYRfRTFTER % FEe 9399
[RAF9
4. Answer the following questions : 10x4=40

wors Rl 2P e fie

(a) Critically discuss the Harrod-Domar
growth model.
@'o-TIR RIr B e ERE
HICAm 401

Or / 91

Discuss the relationship between
technological progress and elements of

endogenous growth.
ugfETe WA W wmeRe  Rerm
CAMPIZR AR i SCAGT 347 |
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(6) | (7)

(b) Discuss critically the permanent income Or/ 9%
hypothesis.
Discuss the main features of classical
W AR S TG IR A school of macroeconomic thought.
|11
TRIM ALAE SRYRR TS N6y T
Or/ =31 RMBFTE A F4 |
What are the determinants of business
fixed investment? Discuss. * Kk *
T &3 Rffcnsr Rz & & 2 sicemsan |
1 '

(c) Critically discuss the Keynesian [
consumption function.

SN (S5 FETICH! FACAA FHZIICI AT .
0 V
Or/ a1

Discuss the ‘government budget
constraint’.

‘IR ICHG IR AT FT |

(d) Discuss different types of government
debt. What is Ricardian equivalence?
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